172

FZ / Product Number

AUX - -

H~F %

H dimension

W~T 5%

W dimension

D dimension

F view
A
D~ti% FILZRE

Aluminium feet

ERE R4k / Original trapezoidal head screw specification

B75=h)LTF—4 / Technical Datall

#{TRJLY / Recommended torque: 0.3N*m ~ 0.6N*m

EX (P /H)

Screw (P or H)

@ o

© @

[P] 75X / Phillips

E 758 / Hexagon-socket

itk

Color Type

#BRAZ / Components

No. 2 %5 / Part name #M= / Pcs #E / Material - REAIE / Color+Finish
: a—F—Javy 4 TILEHE A F v R+ ADC12 DIR— Ty
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) Btk 4 TILSHRHHF A6063S-T5 DWIR— TV TIIARII T B
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized with clear coating
2 HiN— : 7 IJLSHR A1100P DIWIN— TSV T LA
Top cover Aluminium A1100P Silver , Black*Anodized
4 FThiR— : 7 JLE#R A1100P DIWIR—, TZ9T-TILIA+
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 TILZR 4 TILE & IYavT L DWIN— , TZ9Y-FILIA & TF9Y
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
6 HR{FE X (M3 x 8) 1 #% =L AYE
Screw (Flat head M3 - 8) Steel Nickel plated
; IMAFER (M3 x 5) g # S LAvE | SEESAA—+
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
8 MAER (NA2EM4 x 8) 4 #% =flRyAA—t
Screw (Bind head M4 - 8) Steel Black trivalent chromate

ARESSMIFH I 2HDRROEFHEISHRR S INFEM T EIFBLET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

w4 /Title

£ 114k / Color Type
£285 / Code | a—7+—JOw% / Corner block {BI#R / Frame $H/3— / Top cover T H/\— / Bottom cover FILZR / Aluminium feet
SS < )L1N— / Silver < )LiN— / Silver < )LsN— / Silver < )L/N— / Silver < JLsN— / Silver
S B 7359% / Black < )LsN— / Silver < )LsN— / Silver < )LsN— / Silver 2 )LsN— / Silver
B X 7359% / Black 759% / Black < )LsN— / Silver < )LsN— / Silver 2 )LsN— / Silver
B B 7579 / Black 759% / Black 759% / Black 75v% / Black 7597 / Black

TAKACHI] #RXL#tshFEHTE 7 L3avkO— LRSI R O
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
&R/ Approved &[] /Checked #I[X|/Created B Z /Product number RE/Scale
AUX66-16-16A-10O
EF'*E F ﬁ L R—/Page
{ERK B /Date 2024/09/30 1/ 6




153

B view

D view E view C view F view

160+ 0.5
A-A(1:3)

w

160+ 0.5
]

|

!

|

!

|

|

|
—

44
A view C-C (1:3)
R E2)
Ml {° ol
c c

66+ 0.3
=
|
|
|
|
|
i

113

— —
0

: L. 3
&2 By,

B-B (1:3) 113

3 2% /Title
TAKACHI] #H&#ahFERT % LI R O— LY S R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
7 R/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
1:3

AUX66-16-16AL1-10]

153 thig E 1 R=T/Page
{YER B /Date 2022/10/26 2 / 6




A I / A Frame

110 225

.
RN

2-M3FY 5%
2-M3 Countersunk

X mEEFEHE / Same on the other side.

65

Z M@ / Front side

B {Bl#x / B Frame

2@ / Front side

58.7

2.5

33

3.3

ZE @ / Back side

)
&)

@ / Back side

mmf/Title
HARHANTEMTE AR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H66 - W160 o
iR X ol R—/Page
1R H/Date 2022/09/27 3/ 6




C {I#k / C Frame

110 225

.
RN

2-M3FY 5%
2-M3 Countersunk

X mEEFEHE / Same on the other side.

65

Z M@ / Front side

D fl#x / D Frame

2@ / Front side

58.7

2.5

33

3.3

ZE @ / Back side

)
&)

@ / Back side

mmf/Title
HARHANTEMTE AR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H66 - D160 o
iR X ol R—/Page
1R H/Date 2022/09/27 4 / 6




4-R14.7

1494

FRE / Front side

130

149.4

130

BE#~ti% / Max dim. 113+ 0.3

BE#~Ti% / Max dim. 113+ 0.3

4-@45

REES—HMAY

Surface protective film side

ZZ M / Back side

mnda/Title
TAKACHI| MR HhFEHT X HI8— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 5%/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
W160 - D160 _ 2
EP*E X E‘T’*ﬂ' ~N—/Page
{ERK B /Date 2022/07/26 57/ 6




4-R14.7
<
g 8

=M / Front side

149.4

130

101.4

101.4

A% / Max dim. 113+ 0.3

ER~ti% / Max dim. 113+ 0.3

REES — A

Surface protective film side

ZZ M / Back side

BASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

m#/Title
THhiN—

Bottom cover

o]

7 5%/ Approved

iR

#%[X/Checked

=

#1[X]/Created

F

RIE /Product number

W160 - D160

RE/Scale
1:2

{ERL B /Date 2022/07/26

R—/Page

6 / 6




	AUX66-16-16A_ｼｰﾄ1
	AUX66-16-16A_ｼｰﾄ2
	AUS_(AUX66)_H66-W160
	AUS_D (AUX66)_H66-D160
	AUT(E)_AUX-Top_W160-D160
	AUB(E)_AUX-A_Bottom_W160-D160
	
	Sheets and Views
	Model



